g = a ges 0 = P X A9 /A8asug
001 010

€0-dgc'T —+ Y0—-488'S = WJoN

Il_ _ LI _ LI Lh
20-4€2'S -+  10-FAL¥T = [Ao¥] L = Af 7 AT 7 3
10-36¥'€ —+ £0-300'1 = HN
e1-369°E = xnid w |
c0-306'V = 3jed OOQW nl_ 1 | I T T B 1 | I |_|.
A9/ AS1auy A9¥ /ABasuy
001 010 001 010
- _ | L I I _ rrrrr 4y I I _ LU I I _ I
— — ¢-01 _ i
B m o) H IR H
n - =y - -
B _ o - .
- — 1 — n
- N o) l i
m - = —T
— | = $-01 ﬁ ]
= L - il
- - ] 3
- _] N — | —1 -
- / . o T -
- 3 = L ]
= —  Jeo0 2 .
Lorr gl 1 ______| 1 1 Lirr o 1 Liri a1

LI6EVYS+6 YYS091l SXUe Apqq,wuwred L620 4cL0E6

s[enpisay

(A®¥ s)/syuno)




